ortasr 1 eliidiR M - MM (23H6M)

FHFRZ TR A - R - W8 - JIRE TR 1 AR, RN RE - JF b - PR - IS, 2013 4E 8 2 H 1 RS

TR W= Sin e, Cos e, Tan™ 'z 1, THEN, arcsin z, arccosx arctanz & EWTH KW,

[1)(30 &) FEIO/NRIZZR U 7ZB%K f(x) O 1 XS (1 BB %2k X,
1) f(z) = @) (2) f(z) = Tan"" (12;) (3) f(z) =rv/a® — 2% + a’Sin~'Z (a > 0)

1422

PAR /NI E 2 &
(1) 65 0<a<1,0<b<1DEE 0<Sinla+Sin" <7 THBILERE.
(2) (10#%) Cos 'z =Sin"' 1 4+ Sin~' I #A7F 2 2 RD &,

BHE4: AERE: e s, # -
MARS T || Tos e || e ke || L s -
GewiEB) | |sA2n p - g | (Y % i o




ortasr 1 eliidiR M - MM (23H6M)

BHARFE T B - BRI - A TR LEERR, HYEEA e - HL - L - HIg, 201348 H 2 H 1 REM

[3](15 %) f(x) B33 EBMATRED & =, R = f(z) — (f(0) + LQg 4 L0052 4 J708y » 35¢
3 JEBEE 1 (z) M lim f"(x) = f"(0) 2ATLE, 0 CXILOEHE 3[EN#EML T, lim 53 =0ThbZ
z—

z—0 I
LRt

[4)(15 &) BB f(2) = log(1+2) D, 2 =0 DEHBETD z D3RETOT—F—EiE KD &, FAE R &,

BHE4: AERE: L s, # -
BB T || Esi2s e || e RE | [ L 5~ -
GewiEB) | |sA2n p - g | (Y % i o




ortasr 1 eliidiR M - MM (23H6M)

FHFRZ TR A - R - W8 - JIRE TR 1 AR, RN RE - JF b - PR - IS, 2013 4E 8 2 H 1 RS

[5)(10 &) i 2 = 4o’y + 2y® LD (2,y,2) = (—1,1,3) (LB T B EFHO SRR %2 KD X,

@ z= f(z,y), x =rcosh, y=rsinf D&, LFNO/NEIZEZ K,
(1)(10 ) 2z, = %f(rcosﬂ,rsin@),ze = %f(rcosﬂ,rsin&) " 2y = %f(a:,y),zy = %f(x,y), BXO, 0%

AWTHRYE,
(2)(5 ) 2= f(z,y) D z2=g(r) (r=a?+y?) LEFEERIND (Wb, 2p = 0D RILT D) 72D BEA5

FME, yzy =22y THDI L2 LOHE,

BHE4: AERE: L s, # -
BB T || Esi2s e || e RE | [ L 5~ -
GewiEB) | |sA2n p - g | (Y % i o




[

X P A
e @) = eF i Glyg) = o o ey i +1) B

&) /- | 2£(4C) = 2 (1) _ ~ ax
I ?;55)2 (+x9” G+x2)* + (1-x2)*?
— 4 - )
T L+ x4) T T ars (%)
(3) {/: &2_12 I 2’1 +a2 ) _Z}/
Na-x* /— &{3
— o= x? . —x* i e

7

-+ MW?

(2) Oncwe L= arcio

3
3 / ~ i AN ‘ s /7
& p m[mwg—F ancetn g e 0 L Wiz + G/%M?’\<TC

— )

—— =
) Ta=3, b=d tLLEWR ot

‘ \ \ . : A4E3
= X = m(mmg’) e /O(/LM/W\(]Z) -—w/a/wm;’;) A /Mo&bm??)
202 e _ .7
= E 9 3 v
7 { e
= = 5 (%)

. ’ I
1) M (= acanXd oK< == B R e § 3,



I &

\\"‘1 . / " g
V- f0) - i —go):cz—i—,@ij

Do R 0, Teo~ f0) =977
=20 2 Ao : p
20 xS
— ) " -
T L (‘FOO - fe- o) = 182 ’
ey Ao 2 - -
noeTr. 37;’, :
o
peeg 7070 T
32 ey
iy " ©
= Qi T 0= 00 .
bes 70 6
N M
)= 00 0 B
% = 7 = O (ﬁ,},ﬁﬁ\ d“;& \))
fror= dm | =0
f }
floo= 772, o=
" l "
O= —
‘F [’)) CH-'L)Z > -F /0): "’
; <F‘” ) _ o (\///
‘ (x - CH_)C)B J T [0)—‘: 2
"
- $ers Fmar o0 L2 0 u g

= L “ELPCZ—#—;)?CB—kR %)



. <
o= gy ome CLD= g =1

Ly= 40+ 324*  n=2y (L= 4-3 = |
Ao d BX N
F=ZE00) +FmEs) Yy —)

= 3 =T EAD 4+ ()

29

(\) [ZYJ’

_ [ covd  wwd )T A= o=f) Zx o Z{L/
@) ZQ = \rMQ Zye 1 oo?@ 2‘:7

= -"Lg Z;( +;(2<V/I ::O

Y T = Zy L Zy=0 & Y 2o =22y
A& 28 22900 £Hhtdy & Zp=o

LEeST 2= 9 tE13 & 7?;{3122

|

4,

7



	exam_cf13b
	exam_cf13b_co

